Scottish Enterprise Economic Impact Guidance

Scottish Enterprise’s Impact Model
	Scottish Enterprise’s impact model is an economic model used to assess the net GVA and employment impact of one year of SE spend on the Scottish economy over a 10 year period.  


What is it?
The Scottish Enterprise impact model is an economic model that is used to estimate the economic impact of a given year’s budget.  It takes a range of appraisal and evaluation evidence and uses this as the basis for calculating the impact of spend across each of the three SE themes (Globally Competitive Businesses, Globally Competitive Sectors and Globally Competitive Business Environment) and twenty two intervention areas including Account Management, R&D, sectors (for example Life Sciences and Energy), equity investments and infrastructure.  The model provides a 10 year estimate of the net additional employment and GVA impact of 1 year’s spend as well as appropriate impact ratios
 for years 1, 3, 5 and 10 (referred to as milestone years).
How does it work?
The model collates impact evidence from a range of appraisals and evaluations. This is modelled over a 10 year period so that it is possible to see how the net impacts are distributed over time.  
Each project appraisal or evaluation forms the evidence base that underpins the impact model. The 2013-14 model uses 77 evidence sources.  These are arranged, where appropriate, by intervention area.  These are then collated into the appropriate themes which in turn give the overall impact of SE spend.  The model therefore looks at impacts by intervention area, theme and, ultimately, SE overall.

As new evidence becomes available this is added to the model and may replace sources that are felt to be dated. The model is therefore being continually updated and revised.
The model provides impacts over 10 years as this is believed to be the optimal period for capturing the full impact of interventions.  This timeframe allows projects to be delivered, outputs and outcomes to be generated and impacts to be realised.  However, the 10 year period does not mean that all projects necessarily will have a reported impact for each of these years. It may be that some projects are set up, deliver and end over a shorter period.  Likewise other projects may deliver impacts over a longer period, in particular infrastructure.  Ten years is therefore seen as a reasonable compromise between interventions that bring short term benefits and those that may only bring these over a longer period. 
The key metrics  
The key metrics produced include the net additional GVA and employment impact, along with impact ratios for milestone years (years 1, 3, 5 and 10).  

While the GVA impacts are based on the appraisal and evaluation evidence, the employment impacts are simply estimated from the GVA impact.  This uses the Scottish Government’s Scottish Annual Business Statistics
 data on GVA per employee and converts the GVA data in the model to jobs thus providing annual jobs. 
Need more help?
For further information contact:-

Suzanne Fleming, 0141-228-2062

Suzanne.fleming@scotent.co.uk
� The impact ratio is the net additional GVA in the Scottish economy as a consequence of £1 of SE spend.


� � HYPERLINK "http://www.scotland.gov.uk/Resource/0040/00402047.pdf" ��� http://www.scotland.gov.uk/Resource/0043/00432251.pdf
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